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QUESTION 1

What is the purpose of the command shown in the exhibit?
[edit protocols l1lZ2-learning]
user@switch# show

disable—vxlan-multicast—-transit {
vxlan-multicast—-group 239.0.0.1;

A. to stop the transmission of transit multicast traffic when there are no interested receivers attached to a remote VTEP.
B. to disallow IGMP requests for the group 239.0.0.1 from hosts attached to the local VTEP.

C. to disable the multicast group 239.0.0.1 across the entire VXLAN.

D. to stop the reception of transit multicast traffic when there are no interested receivers attached to the local VTEP.

Correct Answer: A

QUESTION 2

You are designing a Layer 3 fabric underlay using EBGP. You will implement an EVPN-signaled VXLAN overlay on the
Layer 3 fabric.

In this scenario, what must you do in the underlay to ensure that the VXLAN overlay will be able to function properly?
A. The underlay should advertise the host-connected interfaces on all leaf devices.

B. Each device in the underlay should advertise its loopback address.

C. The underlay should be configured with a separate VRF for each potential tenant.

D. The underlay should support the PIM protocol.

Correct Answer: B

QUESTION 3
Devices spinel and spine2 have been configured as distributed Layer 3 gateways in the VXLAN topology, and devices

leafl and leaf3 have been configured as Layer 2 gateways. Device hostl must be able to communicate with device
host2.
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spinel spinel
— «—
I > —
{master:0} [edit] € IP Fabric € {master:0} [edit]
user@leafl$# show vlans user@leaf3# show wvlans
w100 { v200 {
vlan-id 100; vlan-id 200;
vxlan { vxlan {
vni 5100; vni 5200;
1 }
} > > i
ol —
—3 —
leafl |€<—— —— | leaf3
VLAN ID 100 VLANID 200
hostl host2
10.1.1.1/24 10.1.1.2/24

Referring to the exhibit, which two statements are true? (Choose two.)
A. An IRB interface must be configured on devices leafl and leaf2.

B. Traffic from hostl to host2 will transit the VXLAN tunnel from leafl to leaf3.

C. Traffic from hostl to host2 will transit a VXLAN tunnel to spinel or spine2, then a VXLAN tunnel from spinel or

spine2 to leaf3.
D. An IRS interface must be configured on devices spinel and spine2.

Correct Answer: CD

QUESTION 4

Which EVPN route type prevents BUM traffic from looping back to a multihomed host?
A. IP prefix route

B. Ethernet autodiscovery route

C. Ethernet segment route

D. inclusive multicast-Ethernet tag route

Correct Answer: B

QUESTION 5
Which statement is true about a Data Center Interconnect over an IP network?

A. Layer 2 data must traverse a point-to-point link.
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B. Layer 2 data must traverse an MPLS LSP.
C. Layer 2 data must be encapsulated.
D. Layer 3 data must be encapsulated.

Correct Answer: B
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